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ÍÛæ̃ Û¶ÛÛ : (1) ¼ÛµÛÛ ¸ÛóÊ¶Û Û é º õÁ õÜ ›÷ýÛ Û ©Û  ™ öé. 

  (2) Ü ÈÛ ïõÅ¸Û Û é …Û ×©Û Ü Á õïõ ™ öé. 

  (3) ¸Û óÊ¶Û ¶Û à  ›÷¾ Û ¨Û à  ¼Û Û ›ä÷…é þ ù ÉÛ Û Ù ÈÛ éÅÛ  …×ïõ ¸Û ó Ê¶Û ¶Û Û  ¸Û æÁ õÛ  •Û ä̈ Û  þ ù ÉÛ Û ÙÈÛ é ™ öé. 
 

1. (A) ¶Û à ˜ Ûé …Û ¸Û éÅÛ Û  ¸Û óÊ¶Û Û é¾ Û Û ×¬ Û à  ïõÛ é̂ ¸Û ¨Û …éïõ¶Û Û é Í Û Ü ÈÛ Í ©ÛÛ Á õ ›÷ÈÛ Û¼ Û  ÅÛ ” ÛÛ é. 10 

  (1) (a) ›Û é A = {x/x∈Z, x3 = x}, B = {x/x∈Z, x2 = x}, C = {x/x∈N, x2 = x} ÐüÛ é ýÛ  
©Û Û é U = {–1, 0, 1, 2} ÅÛ ˆ  ¶Û à ˜ Ûé¶Û Û  ¸Û Ü Á õ¨Û Û ¾ Û Ûé ˜ Û ïõÛ Í Û Ûé : 

    (i) (B∪C)′ = B′∩C′    (ii) (C′)′ = C   (iii) (B∩C)′ = B′∩C′ 

   (b) …éïõ ÐüÛ é¦ øà  ¶Û þ ù à ¶Û Û  Í Û Û ¾ ÛÛ  ¸Û óÈÛ Û Ðéü 25 Ü ïõ.¾ Û à . …¶Û é ¸Û óÈÛ Û Ðü¶ Û à  Ü þ ù ÉÛ Û ¾ Û Û× 35 Ü ïõ.¾ Û à . 
…×©Û Á õ 10 ïõÅÛ Û ïõ¾ Û Û × ïõÛ ¸Û é ™ ö é. ©Û é ÐüÛ é¦ øà  ©Û é ›÷  ¶Û þ ù à ¾ Û Û× 40 Ü ïõ .¾ Û à . Í Û Û ¾ Û Û  ¸ÛóÈÛ Û Ðéü …¶Û é 
49 Ü ïõ.¾ Û à . ¸Û óÈÛ Û Ðü¶Û à  Ü þù ÉÛ Û ¾ ÛÛ × ïõÛ ¸Û ©Û Û × 15 ïõÅÛ Û ïõ ›÷é¤øÅÛ Û é  Í Û ¾Û ýÛ  ÅÛé ™ öé. ¶Û þ ù à ¶ÛÛ 
¸Û óÈÛ Û Ðü¶Û à  …¶Û é ÐüÛ é¦ øà ¶Û à  ¡ö¦ ø¸Û  ÉÛ Û éµÛ Û é. 

    (¶Û þ ù à ¶Û Û  ¸ÛóÈÛ Û Ðü¶Û à  ¡ö¦ ø¸Û  ïõÁ õ© Û Û × Ü Í ¬ Û Áõ ¸Û Û ¨Û à ¾ ÛÛ × ÐüÛ é¦ øà ¶Û à  ¡ö¦ ø¸Û  ÈÛ µÛ ä ™ öé.) 

  (2) (a) µÛ Û éÁ õ¨Û -12 A ¶Û Û é ïõÛ é̂  …éïõ Ü ÈÛ ² Û ¬ Û â x
4 – 3x

3 + 5x
2 + 8x + 5 ˜ Û Û éïõÅÛ é¤ø¾ Û Û ×¬ Û à 

…¾ Û äïõ ˜ Û Û éïõÅÛ é¤ø ©Û é¶Û Û  ¼ Û µÛ Û  Ü ¾ Û ª Û Ûé¶Û é Í Û ¾ Û Û ¶Û  Á õ à ©Ûé ÈÛ Ðêü˜ Û é ™ öé ©Û é¬ Û à  þ ù Á éõïõ Ü ¾ Û ª Û ¶Ûé  

(x2 – 1) ˜ Û Û éïõÅÛ é¤ø  ¾ Û Ç é …¶Û é 26 ˜ Û Û éïõÅÛ é¤ø ©Û é¶Û Û  Ü ÉÛ “Û ïõÛ é  ¾ Û Û ¤éø ©Û é¶Û à  ¸Û Û Í Û é ÈÛ µÛ é ™ öé ©Û Û é 
©Û é Ü ÈÛ ² Û ¬ Û â  ¸Û Û Í Ûé ïéõ ¤øÅÛ à  ˜ Û Û éï õÅÛ é¤ø Ðü©Û à ? þ ù Áéõïõ Ü ¾ Û ª Û ¶Û é ïéõ ¤øÅÛ à  ˜ Û Û éïõÅÛ é¤ ø ¾ Û Ç ÉÛ é ? 

Ü ÈÛ ² Û ¬ Û â ¶Û é ïéõ¤øÅÛ Û  Ü ¾ Û ª Û Ûé Ðü©Û Û  ? 

   (b) …éïõ ¶Û þ ù à ¶Û Û  ¸Û óÈÛ Û Ðü¶Û Û é ÈÛ é•Û 1 Ü ïõ.¾ Û à ./ïõÅÛ Û ïõ ™ öé. …éïõ Ð üÛ é¦ øà  ¶Û þ ù à ¶ÛÛ  ¸Û óÈÛ Û Ð ü¶Û à 
Ü þ ù ÉÛ Û ¾ Û Û× 112 Ü ïõ.¾ Û à . …×©Û Á õ ›÷ˆ  ©Û é¤øÅÛ ä×  ›÷ …×©Û Á õ ¸Û ó ÈÛ Û Ðü¶ Û à  Í Û Û ¾ Û à  Ü þù ÉÛ Û ¾ Û Û× ¸Û Û ™ öÛ  
…Û ÈÛ ©Û Û × 15 ïõÅÛ Û ïõ ›÷é ¤øÅÛ Û é Í Û ¾ Û ýÛ  ÅÛ é ™ öé. ÐüÛ é¦ øà ¶Û Û é Ü Í ¬ Û Á õ ¸Û Û ¨Û à ¾ Û Û × ÈÛ é•Û  ÉÛ Û éµÛ Û é.  
(¸Û óÈÛ Û Ðü¶Û Û é ÈÛ é•Û  ÐüÛ é¦ øà ¶Û Û  Ü Í ¬ Û Á õ ¸Û Û ¨Û à ¾ Û Û× ÈÛ é•Û  ïõÁ õ©Û Û × …Û é™ öÛ é ™ öé.) 
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 (B) ¶Û à ˜ Ûé …Û ¸Û éÅÛ Û  ¸Û óÊ¶Û Û é¾ Û Û ×¬ Û à  ïõÛ é̂ ¸Û ¨Û  …éïõ¶Û Û é ›÷ÈÛ Û ¼ Û  ÅÛ ” Û Ûé : 4 

  (1) 
3

x

 + 
4

y
 = 2, 

5

x

 + 
7

y
 = 

41

12
 , x > 0, y > 0. 

   Í Û ¾ Û à ïõÁ õ¨Û  ýÛä•¾ Û  ŠïéõÅÛ Û é.  

  (2) A = {x/x∈N, x < 10}, B = {x/x∈N, x …é 3 ¶Û Û é •Û ä̈ Û ïõ ™ öé, x < 15}, C = {x/x∈Z, 

– 4 < x < 4} …Û ¸Û éÅÛ  ª Û ¨Û  •Û ¨Û  ¾ Û Û ¤éø A ∩ (B∪C) = (A∩B) ∪ (A∩C) ˜ Û ïõÛ Í Û Û é. 

  (3) ïõÛ é̂  …éïõ ÈÛ •Û Ù¶Û Û  þ ù Áéõïõ Ü ÈÛ ² Û ¬ Û â  ¸Û Û ÍÛ é¬ Û à  Á õÛ Ð ü©Û  º õÛ Ç Û  ¾ Û Û ¤éø ` (2x + 3) …éïõ¥øÛ  ïõÁ õÈÛ Û ¾ Û Û× 
…Û ÈýÛ Û ×. ›Û é ïäõÅÛ  Á õïõ¾ Û ` (2x

3 + x2 – 5x – 3) ÐüÛ éýÛ , ©Û Û é ÈÛ •Û Ù¾ Û Û × ïéõ¤ øÅÛ Û  Ü ÈÛ ² Û ¬ Û â …Û é ÐüÉ Û é 
©Û é ÉÛ Û éµÛ Û é. 

 

2. (A) ¶Û à ˜ Ûé …Û ¸Û éÅÛ Û  ¸Û óÊ¶Û Û é¾ Û Û ×¬ Û à  ïõÛ é̂ ¸Û ¨Û  ¼Ûé¶Û Û  ›÷ÈÛ Û¼ Û  ÅÛ ”Û Ûé : 6 

  (1) ÈýÛ Û ” ýÛ Û  …Û ¸Û Û é : (a) …×©Û Á õ¶Û à  ¸Û æÈÛ ÙµÛ Û Á õ¨Û Û  ÅÛ ” Û Ûé. (b) Ü ª Û ïõÛ é̈ Û ¶Û Û é ¼ Û Ü ÐüÌ ïõÛ é̈ Û  …¶ Û é                     
(c) … ×©Û •Û Ù©Û  ” Û æ̈ Û Û é. 

  (2) ›Û é M …é ––
AB ¶Û ä× ¾ Û µýÛ Ý ¼ Ûþ äù  ÐüÛ éýÛ , AB = 10 …¶Û é M …é 7 ¶Û é Í Û ×•Û ©Û  ÐüÛ éýÛ  ©Û Ûé A …¶Û é B 

¶Û é Í Û ×•Û ©Û  Í Û×” ýÛ Û  ÉÛ Û éµÛ Û é. 

  (3) ∆ABC ¾ Û Û ¤éø ∠ABE …¶Û é  ∠CAD …é  ¼ Û Ü ÐüÌ ïõÛ é̈ Û  ™ ö é ©Û é ¾ Û ¶Û Û  ¾ Û Û ¸Û  …¶Û ä’ õ¾ Ûé 100° … ¶Ûé 
125° ™ öé. ©Û Û é m∠ACB ÉÛ Û éµÛ Û é. 

 (B) ¶Û à ˜ Ûé …Û ¸Û éÅÛ Û  ¸Û óÊ¶Û Û é¾ Û Û ×¬ Û à  ïõÛ é̂ ¸Û ¨Û  …éïõ¶Û Û é ›÷ÈÛ Û ¼ Û  ÅÛ ” Û Ûé : 8 

  (1) (a) ∆ABC ›Û é ––
AD, 

––
BE …¶Û é ––

CF …éïõÄõ ¸Û  ÈÛ éµÛ  ÐüÛ éýÛ , ©Û Û é Í Û Û Ü¼ Û ©Û  ïõÁ õÛé ïéõ ∆ ABC 

Í Û ¾ Û½ Ûæ›÷ Ü ª Û ïõÛ é̈ Û  ™ öé. 

   (b) ∠AOC …¶Û é ∠BOD …Ü ½ Û ïõÛ é̈ Û Û é ™ öé. m ∠AOC = a + 20, m ∠BOD =  

2a – 50 …¶Û é A – O – B ©Û Û é  m∠AOD ÉÛ Û éµÛ Û é. 

  (2) (a) ¼ Û é Í Û ¾Û Û×©Û Á õ Á éõ” Û Û …Û é¶Û à  ™ öéÜ þ ù ïõÛ ¬ Û à  ¼Û ¶Û ©Û Û  ™ öéÜ þ ù ïõÛ ¶Û à  …éïõ©Û Á õº õ¶Û Û  …×©Û :ïõÛ é̈ Û Û é ¸Û æÁ õïõ 
ÐüÛ éýÛ  ™ öé. …é¾ Û  Í Û Û Ü ¼ Û ©Û  ïõÁ õÛé. 

   (b) ∆ABC ¾ Û Û ¤é ø, ›Û é m ∠A + m ∠B = 100 …¶Û é m ∠B + m ∠C = 130 ©Û Û é 
∆ABC ¶Û Û  ©Û ¾ Û Û ¾ Û  ”Û æ̈ Û Û …Û é¶Û Û  ¾ Û Û ¸Û  ÉÛ ÛéµÛ Û é. 
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3. (A) ¶Û à ˜ Ûé …Û ¸Û éÅÛ Û  ¸Û óÊ¶Û Û é¾ Û Û ×¬ Û à  ïõÛ é̂ ¸Û ¨Û  …éïõ¶Û Û é Í Û Ü ÈÛÍ ©Û Û Á õ ›÷ÈÛ Û¼ Û  ÅÛ ” ÛÛ é. 10 

  (1) (a) ∆ABC¾ Û Û × ∠B ïõÛ ¤ø” Û æ̈ Û Û é ™ öé  …¶Û é ––
BD …é ïõ¨Û Ù ¸Û Á õ¶Û Û é ÈÛ éµÛ  ™ öé. ›Û é AB = 8,  

BC = 6 ©Û Û é ∆BDC ¶Û ä× “Û éª Û º õÇ  ÉÛ Û éµÛ Û é. 

   (b) …éïõ ÈÛ ©Û äÙÇ  ∆ABC ¶Û à  ¼ Û Û › ä÷…Û é ––
BC, 

––
CA, 

––
AB ¶Û é …¶Û ä’ õ¾ Ûé D, E, F ¾ Û Û × Í ¸Û ÉÛ ë ™ öé.  

ÈÛ ©Û äÙÇ ¶Û à  Ü ª Û šýÛ Û 4 …éïõ¾ Û  ™ öé ›Û é  BD = 8, DC = 6 Ð üÛ éýÛ  ©Û Û é AB …¶Û é AC 

ÉÛ Û éµÛ Û é. 

  (2) (a) ÅÛ ×¼ Û ˜ Û ÛéÁ õÍ Û ABCD ¾ Û Û × AB + BC = 23, AC + BD = 34, ÅÛ ×¼ Û ˜ Û ÛéÁ õÍ Û ¶Ûä× “Û éª Û º õÇ 

ÉÛ Û éµÛ Û é. 

   (b) ›Û é tan θ + sin θ = a …¶Û é tan θ  – sin θ = b ÐüÛéýÛ , ©Û Û é Í ÛÛ Ü ¼Û ©Û  ïõÁ õÛé ïéõ  

a2 – b2 = A ab …¶Û é ›Û é a cos θ + b sin θ = p …¶Û é a sin θ – p cos θ =  q, 

ÐüÛ éýÛ  ©Û Û é Í Û Û Ü ¼ Û ©Û  ïõÁ õÛé ïéõ a2 + b2 = p2 + q2 ©Ûé ¸Û Á õ¬ Û à  Í ÛÛ Ü ¼Û ©Û  ïõÁ õÛ é 

     a = 2 ab + 






p2 + q2

2
  

 (B) ¶Û à ˜ Ûé …Û ¸Û éÅÛ Û  ¸Û óÊ¶Û Û é¾ Û Û ×¬ Û à  ïõÛ é̂ ¸Û ¨Û  …éïõ¶Û Û é ›÷ÈÛ Û ¼ Û  ÅÛ” Û Ûé : 4 

  (1) 
––

AD, 
––
BE …¶Û é ––

CF …é ∆ ABC ¶Û à  ¾Û µýÛ •Û Û …Û é ™ öé. ›Û é BE = 12, CF = 9 …¶Û é  

AB2 + BC2 + AC2 = 600 ÐüÛ éýÛ , ©Û Û é AD ÉÛ Û éµÛ Û é. 

  (2) P …é u(0, 5) ¶Û Û  ÍÛ ¾ Û ©Û ÅÛ ¶Ûä×  …éÈÛ ä× Ý ¼ Û þ äù  ™ öé ïéõ ›÷é¬ Û à  OP = 13, P ¾ Û Û×¬ Û à  ÈÛ ©ÛäÙÇ ¶Û é ¼ Ûé 

Í ¸Û ÉÛ ÙïõÛ é þ ù Û éÁ éõÅÛ Û  ™ öé ›÷é ÈÛ ©Û äÙÇ ¶Û é A …¶Û é B ¾ Û Û × Í ¸Û ÉÛ ë ™ öé . AB ÉÛ Û éµÛ Û é. 

  (3) ∆ABC ¾ Û Û × ∠A ¶Û Û é Ü ³ ù ½ Û Û ›÷ïõ ––
BC ¶Û é D ¾ Û Û × ™ öéþ éù  ™ öé. Í Û Û Ü ¼ Û ©Û  ïõÁ õÛ é ïéõ, 

    BD = 
BC × AB

AB + AC
 …¶Û é DC = 

BC × AC

AC + AB
 . 

 

4. (A) ¶Û à ˜ Ûé …Û ¸Û éÅÛ Û  ¸Û óÊ¶Û Û é¾ Û Û ×¬ Û à  ïõÛ é̂ ¸Û ¨Û  ¼Ûé¶Û Û  ›÷ÈÛ Û¼ Û  ÅÛ ”Û Ûé : 6 

  (1) •Û Ü ¨Û ©Û  Ü ÉÛ “Û ¨Û ¾ Û Û× Ü ¶Û ýÛ Û ¾ Û ïõ ¾Û æÅýÛ  Í Û ¾ Û ›Û ÈÛ Ûé. 

  (2) ïõÛ é̂ ¸Û ¨Û  ¼ Ûé …µýÛ Û ¸Û ¶Û  Í Û æª Û Ûé¶Û Û é Š¸Û ýÛ Û é•Û  •Û Ü ¨Û ©Û  Ü ÉÛ “Û ¨Û¾ Û Û× ïéõÈÛ à  Á õ à ©Ûé ïõÁ õÉÛ Û é ? Šþ ù Û ÐüÁ õ¨Û 

…Û ¸Û à  Í Û ¾ Û ›Û ÈÛÛ é. 

  (3) •Û Ü ¨Û ©Û  Ü ÉÛ “Û ¨Û ¾ Û Û× ¾ Û ÛíéÜ ” Û ïõ ïõÛ ýÛ Ù¶Û à  …•Û ©ýÛ  ›÷¨Û Û ÈÛ Û é. 
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 (B) ¶Û à ˜ Ûé …Û ¸Û éÅÛ Û  ¸Û óÊ¶Û Û é¾ Û Û ×¬ Û à  ïõÛ é̂ ¸Û ¨Û  …éïõ¶Û Û é ›÷ÈÛ Û ¼ Û  …Û ¸Û Ûé : 8 

  (1) µÛ Û éÁ õ¨Û 9 ïéõ µÛ Û éÁ õ¨Û 10 •Û Ü ¨Û ©Û¾ Û Û ×¬ Û à  ïõÛé̂  …éïõ …é ïõ¾ Û  ¸Û Í Û ×þ ù ïõÁ õ à  ¶Û à ˜ Ûé ›÷¨Û Û ÈÛéÅÛ  ¾ Û ä°ù Û ¶Û Û 
Í Û ×þ ù ½ ÛÙ¾ Û Û× ¸Û Û ¥ø …Û ýÛ Û é›÷¶Û  ©Û íéýÛ Û Á õ ïõÁ õÛ é : 

   (a) Ü ÈÛ Ü ÉÛ Ì ¤ø Ðéü©Û ä …Û é, (b) ÉÛ íé“Û Ü ¨Û ïõ  ¾ Û ä°ù Û  …¶Û é (c) Ü ÉÛ “Û ïõ¶Û à  ¸Û óÈÛ èÜ « Û …Û é 

  (2) (a) •Û Ü ¨Û ©Û  Ü ÉÛ “Û ¨Û ¾Û Û × ¸Û è¬ Û ‘õÁ õ¨Û – Í Û×ýÛ Û é•Û à ïõÁ õ¨Û  ¸Û ±ù Ü ©Û ¶Û Ûé Š¸Û ýÛ Û é•Û  ©Û ¾ Û é ïéõÈÛ à  Á õ à ©Ûé 
ïõÁ õÉÛ Û é ? Šþ ù Û ÐüÁ õ¨Û  ³ ù Û Á õÛ  Í Û ¾ Û›Û ÈÛ Û é. 

   (b) ´ù §øà ïõÁ õ¨Û  ïõÛ ýÛ Ù …¶Û é Ü ÈÛ Ð× ü•Û Û ÈÛ ÅÛ Û éïõ¶Û ïõÛ ýÛ Ù È Û ˜ ˜ Û é¶Û Û é ½ Ûéþ ù  Í ¸Û Ì ¤ø ïõÁ õÛ é. 

 

5. ¶Û à ˜ Ûé …Û ¸Û éÅÛ Û  ¸Û óÊ¶Û Û é¶Û Û  ¾ Û Û ×•ýÛ Û  ¾ Ûä›÷¼ Û  ›÷ÈÛ Û ¼ Û  ÅÛ ” Û Ûé : 14 

 (1) ›Û é A = {1, 2, 3, 4} ÐüÛ éýÛ, ©Û Û é A ¶Û Û  Š¸Û •Û ¨Û Û é¶Û à  Í Û×” ýÛ Û  ïéõ¤øÅÛ à  ¾ Û Ç é ? 

 (2) ÉÛ éÌ Û  ¸Û ó¾ Û éýÛ  ÅÛ ” Û Ûé. 

 (3) 3 ÈÛ Ì Û Ù ¸Û ÐéüÅÛ Û  Ü ¸Û ©Û Û  …¶Û é ¸Û äª Û ¶Û à  ‹¾ Û Á õ¶ÛÛ é Í Û Á õÈÛ Û Ç Ûé 40 ÈÛ Ì Û Ù Ðü©Û Û é 2 ÈÛ Ì Û Ù ¸Û ™ öà  ©Û é¾ Û ¶Û à  ‹¾ Û Á õ¶Û Ûé 
Í Û Á õÈÛ Û ÇÛ é ____ __ __ ¬ Û ÉÛ é. 

 (4) ∆ ABC …¶Û é ∆ XYZ Í Û ×•Û ©Û ©Û Û  ABC ⇔ XYZ Í Û ¾ Û Äõ¸Û ©Û Û  ™ öé. ABC = 72, BC = 6,  

YZ = 10 ©Û Û é XYZ = ______. 

 (5) ∆ PQR ¾ Û Û× m ∠P + m ∠Q = m ∠R, PR = 7, QR = 24 ÐüÛ éýÛ , ©Û Û é PQ = ______. 

 (6) ›Û é tan 5θ ⋅ tan 4θ = 1, ©Û Û é θ = ______. 

 (7) u (0, 5) ¶Û à  …éïõ œ÷ÈÛ Û u (0, 3) ¶Û é Í ¸Û ÉÛ ë ™ öé. œ÷ÈÛ Û ¶Û à  ÅÛ ×¼ Û Û ˆ ______ ¬ Û Û ýÛ . 

 (8) ÈýÛ Û ” ýÛ Û  …Û ¸Û Û é : …×©Û :Í Û ×¾ Û ä” Û ïõÛ é̈ Û . 

 (9) ›Û é ” Û ä̈ Û Û …Û é¶Û Û  ¾ Û Û ¸Û (6Y + 30) …¶Û é 4Y ÐüÛ é ýÛ  …¶Û é © Û é Á íéõÜ ” Û ïõ ›Û é¦ ø¶Û Û  ” Û æ̈ Û Û …Û é Á õ˜ Û é ©Û Ûé  
Y = ______.      

 (10) ∆ ABC ¾ Û Û ¤éø ∠A ≅ ∠C ™ öé ›Û é BC = 3, AC = 4 ©Û Û é ∠ ABC ¶Û à  ¸Û Ü Á õÜ ¾ Û Ü ©Û ______ ™ öé. 

 (11) Ý ïõ¾ Û ©Û  ÉÛ Û éµÛ Û é : 
cos 18

sin 72
. 

 (12) ¸Û óýÛ Û é•Û  ¸Û ±ù Ü ©Û ¶Û à  ïõÛ é̂ ¸Û ¨Û  ¼ Ûé ¾ Û ýÛ Û Ùþ ù Û  ÅÛ” Û Ûé. 

 (13) ¸Û óÛ é›÷éî ¤ø ¸Û ±ù Ü ©Û ¬ Û à  ÉÛ à ” Û ÈÛà  ÉÛ ïõÛ ýÛ  ©Û éÈÛ Û  ïõÛ é̂ ¸ Û ¨Û  ¼ Û é ¾ Ûä°ù Û  (Ü ÈÛ Ì Û ýÛ Û×•Û ) ›÷¨Û Û ÈÛ Û é. 

 (14) Ü ¶Û þ ù ÉÛ Ù¶Û  ¸Û ±ù Ü ©Û ¶Ûà  ¼ Ûé ¾ Û ýÛ ÛÙþ ù Û  ÅÛ ” Û Ûé. 

__________
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Seat No. :  _______________ 
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B.Ed., Sem.-I 

B-506 : MATHEMATICS 

(Content Cum Methodology) 

 
 

Time :  3 Hours]  [Max. Marks : 70 

 

Instructions : (1) All the questions are compulsory. 

   (2) Options are internal. 

   (3) Figures to the right indicate full marks of the question. 

 

1. (A) Answer any one of the following questions in detail : 10 

  (1) (a) If A = {x/x∈Z, x3 = x}, B = {x/x∈Z, x2 = x}, C = {x/x∈N, x2 = x}, 

then considering U = {–1, 0, 1, 2} verify the following results : 

    (i) (B∪C)′ = B′∩C′    (ii) (C′)′ = C   (iii) (B∩C)′ = B′∩C′ 

   (b) A boat goes 25 km upstream and 35 km downstream in 10 hr. In  

15 hours, it can go 40 km upstream and 49 km downstream.  

Determine the speed of the stream and that of the boat in still water. 

(Speed of boat in still water is more than the speed of the stream of 

river.) 

  (2) (a) If a student of Std. XII-A, distributes equal number of chocolates 

from x4 – 3x
3 + 5x

2 + 8x + 5 chocolates to all of his friends, then each 

friend gets (x2 – 1) chocolates and remain 26 chocolates there with 

him for teachers. Find how many chocolates did the boy have ? How 

many chocolates does each friend get ? How many friends did the 

boy have ? 

   (b) A river flows at a speed of 1 km/hr. A boat takes 15 hr to travel  

112 km downstream and coming back the same distance upstream. 

Find the speed of the boat in still water. 

    (Speed of the river flow is less than the speed of the boat in still 

water.) 
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 (B) Answer any one of the following questions : 4 

  (1) 
3

x

 + 
4

y
 = 2, 

5

x

 + 
7

y
 = 

41

12
 , x > 0, y > 0. 

   Solve the pairs of linear equations.  

  (2) Let A = {x/x∈N, x < 10}, B = {x/x∈N, x is multiple of 3, x < 15},                

C = {x/x∈Z, – 4 < x < 4} be three sets, then verify A ∩ (B∪C) = (A∩B) ∪ 

(A∩C). 

  (3) In a class ` (2x + 3) were collected from each student for relief fund. If the 

total sum collected was ` (2x
3 + x2 – 5x – 3) find the number of students in 

the class. 

 

2. (A) Answer any two of the following questions : 6 

  (1) Define : (a) Distance Postulate, (b) Exterior Angle of triangle and                     

(c) Included Angle. 

  (2) M is the mid point of 
––
AB. If AB = 10 and M corresponds to 7, find the 

numbers corresponding to A and B. 

  (3) For  ∆ABC, if ∠ABE and ∠CAD are exterior angles and their measures 

are 100° and 125° respectively, then find m∠ACB. 

 (B) Answer any one of the following questions : 8 

  (1) (a) In ∆ABC, if 
––

AD, 
––
BE, 

––
CF are congruent altitudes, then prove that           

∆ ABC is an equilateral triangle. 

   (b) ∠AOC and ∠BOD are vertically opposite angle such that                        

m ∠AOC = a + 20, m ∠BOD = 2a – 50 and A – O – B, find 

m∠AOD. 

  (2) (a) Interior angles on one side of a transversal to two parallel lines are 

supplementary. Prove this. 

   (b) For ∆ABC, if m ∠A + m ∠B = 100 and m ∠B + m ∠C = 130, then 

find the measure of all the angles of ∆ABC. 
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3. (A) Answer any one of the following questions in detail : 10 

  (1) (a) ∠B is right angle in ∆ABC and 
––
BD is an altitude to hypotenuse            

AB = 8, BC = 6. Find the area of ∆BDC. 

   (b) A circle touches the sides 
––
BC, 

––
CA, 

––
AB of ∆ABC at the points D, E, F 

respectively, the radius of the circle is 4. If BD = 8, DC = 6, then find 

AB and AC. 

  (2) (a) In rectangle ABCD, AB + BC = 23, AC + BD = 34, then find the area 

of the rectangle. 

   (b) If tan θ + sin θ = a and tan θ  – sin θ = b, then prove that                      

a2 – b2 = A ab. Also a cos θ + b sin θ = p and a sin θ – b cos θ = q, 

then prove that a2 + b2 = p2 + q2. Also prove that, 

     a = 2 ab + 






p2 + q2

2
  

 (B) Answer any one of the following questions : 4 

  (1) 
––

AD, 
––
BE, 

––
CF are the medians of ∆ABC. If BE = 12, CF = 9 and                   

AB2 + BC2 + AC2 = 600, find AD. 

  (2) P is a point of u(0, 5) such that OP = 13. Two tangents are drawn to the 

circle which touch the circle in A and B, find AB. 

  (3) In ∆ABC, the bisector of ∠A intersects 
––
BC in D. Prove that,  

    BD = 
BC × AB

AB + AC
 and DC = 

BC × AC

AC + AB
 . 

 

4. (A) Answers any two of the following questions : 6 

  (1) Explain the disciplinary value of Mathematics teaching. 

  (2) How will you use any two maxims of teaching in Mathematics teaching ? 

State with examples. 

  (3) Explain the importance of oral work in Mathematics teaching. 
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 (B) Answer any one of the following questions : 8 

  (1) Select any topic from Std. 9/10 Mathematics and prepare a lesson plan in 

the context of following points : 

   (a) Specific objectives, (b) Teaching points and (c) Teacher’s activities. 

  (2) (a) How will you use Analytic-synthetic method in the teaching of 

Mathematics ? Explain with example. 

   (b) Classify the difference between Drilling work and Revision work. 

 

5. Answer the following questions to the points : 14 

 (1) If A = {1, 2, 3, 4}, then number of subsets of A are ______. 

 (2) Write Reminder theorem. 

 (3) 3 years ago, the sum of ages of a father and his son was 40 years. After 2 years 

the sum of ages of the father and his son will be ______. 

 (4) The correspondence ABC ⇔ XYZ is similarity in ∆ABC and ∆XYZ.  

ABC = 72, BC = 6, YZ = 10, then XYZ = ______. 

 (5) In ∆PQR, if m ∠P + m ∠Q = m ∠R, PR = 7, QR = 24, then PQ = ______. 

 (6) If tan 5θ ⋅ tan 4θ = 1, then θ = ______. 

 (7) A chord of u (0, 5) touches  u (0, 3), therefore the length of the chord = ______. 

 (8) Define : Interior opposite angle. 

 (9) If two angles forming a linear pair have measure (6Y + 30) and 4Y, then                

Y = ______.      

 (10) For ∆ ABC, ∠A ≅ ∠C if BC = 3, AC = 4, then perimeter of ∠ABC is ______. 

 (11) Find value : 
cos 18

sin 72
. 

 (12) Write any two limitations of experimental method. 

 (13) Name any two topics which can be taught by project method. 

 (14) Write any two limitations of demonstration method. 

________ 


